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QUESTION 1

Consider the statements: Mysql> drop function foo; ERROR 1305 (420000): FUNCTION test, foo does not exist Mysql >
show warnings;
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Mysql> get diagnostics condition 2 @msg=MESSAGE_TEXT; What is the result of the final statement?

A. An empty result is returned.@msg is set to message of the warning.

B. A warning message is generated that adds error 1758 (invalid condition nhumber) to the diagnostics area.
C. Aline will be an output to the error log that contains the warning message details from the failed command.
D. An error is generated as only one condition can exist in the diagnostics area.

Correct Answer: C

QUESTION 2

Which Three options describe benefits of using the InnoDB memcached API?
A. Provides a simple, well supported method for accessing and updating data.
B. Provides a total in memory storage system that eliminates disk1/0 overhead.
C. Bypasses the SQL layer thus avoiding extra processing.

D. Implements a fast caching mechanism to replace the query cache.

E. Provides protection via InnoDB buffers and crash recovery.

Correct Answer: CDE

QUESTION 3

A table (t1) contains 1000 random integer values in the first column (coll). The random values range from 1 to 1000.
You execute this query: SELECT coll FROM t1 WHERE col1=900

What is the output?

A. A list of unique values within the ranges of 1-200 and 900-1000

B. A list of unique values within the range of 1-200 and a list of all values, including duplicates, on the table within the
range of 900-1000
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C. Alist of all values , including duplicates, in the range of 1-200 and a list of unique values in the range of 900-1000
D. A list of all values, including duplicates, in the ranges of 1-200 and 900-1000
E. An error, because mixing UNION and UNION ALL in the same query is not permitted

Correct Answer: C

QUESTION 4

Your application is running slow.

Which two features provide information that help to identify problems?
A. The MYSQL error log

B. The slow query log

C. The performance schema

D. The GET DIAGNOSTICS statement

Correct Answer: BC

QUESTION 5
Consider the structures of the country and countrylanguage tables.

mysql >DESCRIBE country;
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mysql> DESCRIBE countrylanguage;

|

Which query will give you the list of all European countries where German is spoken?

A. SELECT Code AS ¢, Name FROM Country WHERE Continent = "Europe\\' AND EXISTS ( SELECT * FROM
CountryLanguage WHERE CountryCode = Code And Language= "German\\')

B. SELECT Code AS c, Name FROM Country WHERE Continent = "Europe\\' AND Name IN ( SELECT * FROM
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CountryLanguage WHERE CountryCode = Code AND Language =\\'German\\')

C. SELECT Code AS ¢, Name FROM Country WHERE Continent =~ Europe\\' AND EXIST ANY ( SELECT Language,
CountryCode FROM CountryLanguage WHERE CountryCode =Code AND Language = “German\\')

D. SELECT Code AS ¢, Name FROM Country WHERE Continent = "Europe\\' AND ( SELECT * FROM
CountryLanguage WHERE CountryCode =Code AND Language =\\'German\\')

Correct Answer: C
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